
 تمرين: 

𝑓 معرف علىD:وفق 

𝑓(𝑥) =
𝑥3 − 1

1 − 𝑥2
 

 Dعين  •

,∞+عند fاحسب نهاية  • 1, −1, −∞ 

 الحل: 

1 − 𝑥2 = 0 

𝑥2 = 1 

𝑥 = −1, 𝑥 = 1 

𝐷 = 𝑅\{−1,1} 

lim
𝑥→−∞

𝑓(𝑥) = lim
𝑥→−∞

(
𝑥3

−𝑥2) = lim
𝑥→−∞

−𝑥

= +∞ 

lim
𝑥→+∞

𝑓(𝑥) = −∞
.

 

(لدينا حالة عدم تعيين من الشكل  ١)عند  
0

0
 



𝑓(𝑥) =
(𝑥 − 1)(𝑥2 + 𝑥 + 1)

(1 − 𝑥)(1 + 𝑥)
 

𝑓(𝑥) =
−(1 − 𝑥)(𝑥2 + 𝑥 + 1)

(1 − 𝑥)(1 + 𝑥)
 

𝑓(𝑥) =
−(𝑥2 + 𝑥 + 1)

1 + 𝑥
 

lim
𝑥→1

𝑓(𝑥) = −
3

2
.

 

 ملاحظةهااامة: 

𝑥نقسمه على إذا ماعرفنا نحلل البسط أو المقام  − 𝑎 

𝑥2شرح  + 𝑥 + 1 

 

𝑥 − 1                     𝑥3 − 1  

                                 −𝑥3 − 𝑥2 

 

𝑥2 − 1                    

−𝑥2 − 𝑥                  



𝑥 − 1                      

                             −𝑥 − 1 

 0 − 0                    

lim
𝑥→−1−

𝑓(𝑥) = −
2

0− = +∞
.

 

lim
𝑥→−1+

𝑓(𝑥) = −
2

0+ = −∞ 


